U.SN

i
7

“Time: 3 hrs.

22MCAI15S

Max. Marks: 100

Note: 1. Answer any FIVE full questions, chooviﬁgw“ONE full question from each module.

2. M : Marks, L: Bloom’s level , C: Coarve outcomes.

Module I L C
Q.1 | a. | Explain the mathematical analys1s ofire L2 | CO1
of finding the factorial of ‘n’ nu1 B@r“ i
b. | Explain asymptotic notation.w L2 | CO1
Q.2 | a. | What is an algorithm? L2 | CO1
work with example
b. | Explain the L2 | CO1
example. -
D) Module—2
Q3 |a. find the time complexityﬁpf merge sort. | 10 | L2 | CO1
b. ‘Zimum using divide | 10 | L2 | CO1
Q4 |a. 10| L2 | CO1
b. 10 | L2 | CO2
Q.5 | a. | Write the Prlm s algorlthm app gy& 10| L2 | CO1
Fig.Q S(a) to construct minimum spannmg tree.
b. | Explain D jks a’s algorlthm w1th example 10 | L2 | CO1
’ : OR
Q.6 | a. | Explain knapsack probfwz wby greedy method with example. 10| L2 | CO1
b. | Find the Hufﬁngrilcoave for the following data by obtaining Huffman tree. 10| L2 | CO1
Character | A | B | C | D | E
| Probability | 0.11 | 0.40 | 0.16 | 0.09 | 0.24
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Module — 4 !
Q.7 Write an algorithm to complete transitive closure for the giv n graph and | 10 | L2 | CO2
obtain the transitive closure for the given graph show in E 1VMQ 7(a) using
Warshall’s algorithm.
Define multistage graph problemﬁ ‘determine the minimum cost path form | 10 | L2 | CO1
source (s) to sink (T) for the gr' phgfi Fig. Q 7(b) using forward: approach
Q.38 Cco1
CO1
Q9 Cco3
CO3
Q.10 Apply ba&«k tracklng techmque’“ olve the below instance of the subset | 10 | L2 | CO3
sum problem. S = {1, 3, 4, 6yd="7.
Define the following: it)iN‘I/’“:“"éomplete problem ii) NP hard problem. 10 | L2 | CO3

% % k% %

20f2




